Chapter 6.notebook

Unit 6 Study Guide

skill

Description

Example

Sclving Equations

To solve a1 eguation, find the
value of the variable that makes
the ieft side of the egualicn
equal to tne right side,

To solve an equat on, isolate the
variahle oh one side of the
equatian,

Use inverse operations cr a

balance strategy to perform the

same operation on both sides

cf the equation:

& Add the same guantity to
each side )

* Subtract the same guantity
from earch side

+ Multiply or divide each side by
the same non-zers quantity

Algebra tiles ard balance scales
can help model the steps in the
solusion.

Solve the equation:

3y—-2=y+4
Solution
Iy-2=y+4
y—-2+2=p+4+12
y=y+ 0
y—y=y—-y+6
2y=156
y_8&
2 2
y=3

Solving Inequalities

An ineguality is a statemnent hat
ane cuantity is less than (<)
another, greater than (=)
another, less than or equal to
{=} anather, or greater tharn or
equal 1a (=) anather,

The inequality sign reverses
wihen you multiply or divide
each side of the inequality by
the same negative number.

& linear inequarity ray be true
for many va ues of the variable,
We can graph the sclutions on
a number lina.

Solve the inequality and graph
the solution:

—2s—2=5-5

Solution

—25—24+2=5-5 12
—25=s5—3

—2E—5=5—3—35

—35 = =3
= .. =3
-z T -3
=1

since we divide each side by the
same negative number, the
inequality sign is reversed.

0 4 2 3 4 5

256  Copyright @ 2010 Pearson Canada Inc.

June 09, 2014



Chapter 6.notebook

a) f+6-3

f= is correct,
¢} 5h=2%

h= is correct,

2. Solve each eguation. verify the solution,

a) dx=-2=5%

X = is correct.
o 2v—3=-9

v= is correct,

Unit 6 Review

BBl 1. solve cach equation, Verify the rasults.

b) 3—-5=-2

g= is corract,
dl -2k=6

k= is carrect.
b) 2 —3c=-7

= is comect.

dy —2(2 +vh =20

w=__ s correct.
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EE1 3. write the equation modzlled by each set of algebra tiles.

Solve the eqguatian.

4. 5clve each eguation.

ay 9-2w=w-—6

) 3n+1 -3 +n

5. Solve each eguation. Verify the solution,

..-E:
a) & = 7
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b) guuses | smmmw
= =
= =

b)e 68=6 ¢

dy m—-2=3m+4

Left side = &6 + %

Right side =
5=__ iscomect,
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Left side = 4 +

[
Fod
w5

i
b) 4+5

It

Right side

x= is correct.

Bl 6. Graph each inequality.
Write 3 numbers that are possible selutions for each inequalty,

a]q-}_z 1 1 1 } [ b} w=10 1 $ } } t
—q 2

& t= -1 ———+—+— d) r<6 ——f——t—

7. Write an inequality whase solution is graphed on the number line.

a) b) o
-3 -z -1 0 1 1 2 3 4 8

I 8. solve each inequality. Graph the selution.

al 1-6>4 h) 2F+1 < -3

1 1 L

=1
g 10 11 12 13 S s |

9, Sulve each inequality. Graph the solution.

a) 4 —1=2/+13 b) k—2<2—k
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W10 5tate whether you would reverse the ineguality sign to solve each inequality.

a) 2z < -4 b) -Zx=4

o) _L2<4 d) Z=-4

Mol

11. Salve each inequality in question 10, Graph the solution.

a) 2z —4 _é ——— b) 2x=4

L
Ll

M
=
-3
=

12. 3olve each inequality and graph the salution.

a) —3b+4=-5 h) n+2=2n-2
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